Problems Lesson MPM2D Mr. Singh

Example 3 Equation of a Right Bisector

T

Two schools are located at the points P(—1, 4) and Q(7, —2) on a town

map. The school board is planning a new sports complex to be used
by both schools. The board wants to find a location ec

stant from
the two schools. Use an equation to represent the p0331ble locatlons
for the sports complex.

Solution

From the diagram, you can see that a pomt can be the same di stan
from both schools w1thout belng lirectly betw
point on the right bisecto
endpoints of the segment

complex lie on the right bis

ofa
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the measure of . To ¢ h“("\, your (‘.Sllllm;s, ;\‘/;Bmlght
Measure on}the F5 menu, press ”:" "]”’("T:'q‘i\.n.i)e-selggte th_e
cursor toward point A until it flas hes; .l\m:n“ DII( [‘neasu.remem fomt
b and point C in the same way. ! 1(!'»;-:\ the ";I‘A?-;J:;Iin']ate accurat:?a
convenient position and press Was your es :

ADC

6. Estimate p

loes th ¢ line segment fro ;
7. Reflect What property aoes o ggmen m a point

to a line have?

example 1 Find the Shortest Route

- —

A ranger cabin is to be built in a v R
flat wooded area near the straight | gl campground =
road that connects the two i ;A(Znﬂrfa-ﬁll -
campgrounds in a park. A new i TR Y
side road will connect the cabin Filek. ik

to the campground road. On the bel dendid i ot
park map, the campgrounds have |4
coordinates A(2.0, 8.5) and 8 R :-,;

B(10.0, 4.5), while the site for the
cabin is at R(6.0, 1.5). Each unit
on the map grid represents 500 m.
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